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5.4B  Solving Quadratic Inequalities

1. Graphf (x)=x*+2x-8

a) On what interval(s) is x2+2x—-8>07
QepDOe-2) =o
Yy X = >

b) On what interval(s) is x% +2x—8<07?

x4

2. Graph f(x)=—x*—x+6

a) On what interval(s) is 2 —x+6>0?
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b) On what interval(s) is —x“ —x+6<0?
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3. Draw a quadratic function that is:
> Positive whenx<—1 and x>5

> Negative when —1<x<5
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4. Draw a quadratic function that is:
» Positive when -4 <x<0

» Negative when x<—4 and x>0
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5.4B  Solving Quadratic Inequalities

#5—-12: Use a graph to find the solution for the following inequalities. ?(( %-4) o
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Solution: ;2 £ X 5 Solutiorg'z—l:@é ;)( < 3—
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5.4B  Solving Quadratic Inequalities

#5—12 (continued): Use a graph to find the solution for the following inequalities.
2 xo-8x~do =o 2
9. x“>8x+20 CZC‘/D)QK-PL) =5 10. x°+27<12x
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Solution: X'L —2 or 7(> /Q Solution:} <)<< ﬁ
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5.4B  Solving Quadratic Inequalities

#13 —17: Use your graphing calculator to solve the following problems. Sketch the graph and label the
x-intercepts and vertex.

o' ¥
13. The profit a coat manufacturer makes each day is modeled by the ( é J’ 6o >

equation P = —x% +120x—2000 , where P is the profit and x is the
price for each coat sold. For what values of x does the company

makeaprofi% 20 X <j;(ﬂ)

)

3, /6
14. When a baseball is hit by a batter, the height of the ball, A, at time ¢, 1 (1) / )
is determined by the equation /2 (¢) =—16t* +64f + 4. For which

interval of time is the height of the ball greater than or equal to 52
feet? ok oY+ +Y = 5o
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15. The path of a soccer ball kicked from the ground can be modeled
by y= —0.0540x% +1.43x where x is the horizontal distance (in

feet) from where the ball was kicked and y is the corresponding

height (in feet). (i 30 LS )

a) A soccer goal is 8 feet high. Write and solve an inequality to
find at what values of x the ball is low enough to go into the ¢ 7 N
goal. — ) < LA Yx =¥ < 02 RATA

whon\ 02 xsg’é@% ol X 218,98 FE

b) A soccer player kicks the ball toward the goal from a distance of 15 feet away. No one is blocking the
goal. Will the player score a goal? Explain your reasoning.

Mo | From (¥ foet aey | He heeg it of fhe Ll oot ho 7.3 Ph-

i +he net,
52 e Mol kD) 3 azn Mo S S el es abo,
73/ LS nm Wvﬂ&’f W{,S,

5.4 I CAN REPRESENT RELATIONSHIPS INVOLVING QUADRATIC INEQUALITIES IN MULTIPLE WAYS, FIND . P-68
SOLUTIONS AND INTERPRET THESE SOLUTIONS TO SOLVE REAL-WORLD SITUATIONS.




Name Period

54B Solving Quadratic Inequalities

#13 — 17 (continued): Use your graphing calculator to solve the following problems. Sketch the graph and
label the x-intercepts and vertex.
16. A manilla rope used for rappelling down a cliff can safely support a N

weight W (in pounds) modeled by the inequality W <1480d 2
where d is the rope’s diameter (in inches). What diameter of rope

17. For a driver aged x years, a study found that the driver’s reaction

time v (in milliseconds) to a visual stimulus such as a traffic light
can be modeled by v = 0.005x> —0.23x +22 when 16 < x <70.
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At what age does a driver’s reaction time tend to be greater than 25

milliseconds?
A . Vi
R LT e (33754 )
555
0o X T= 3 T3 2o ! ’

9,\/—{,\,\ 1 V"ff‘b““%ws a/loov—c/
daen's age chotd bhe S668X < 70

5.4 I CAN REPRESENT RELATIONSHIPS INVOLVING QUADRATIC INEQUALITIES IN MULTIPLE WAYS, FIND . P-69
SOLUTIONS AND INTERPRET THESE SOLUTIONS TO SOLVE REAL-WORLD SITUATIONS.




Name

Period

5.4B  Solving Quadratic Inequalities

This page intentionally left blank

Section 5.4B

5.4 I CAN REPRESENT RELATIONSHIPS INVOLVING QUADRATIC INEQUALITIES IN MULTIPLE WAYS, FIND .
SOLUTIONS AND INTERPRET THESE SOLUTIONS TO SOLVE REAL-WORLD SITUATIONS.

P-70




